53 G6CH 6 WS 1 Integers

Integers: Worksheet -1

. What is opposite of ‘50 km of south’ ?
(A) 50 km of north (B) 50 km of east
(C) 50 km of west (D) none of these
. Which is the right form of integer 20°C above 0°C™?
(A) -20 (B) 20 (C) -30
. What is opposite of ‘loss of Rs 700°?
(A) profit of Rs 700 (B) loss of Rs 300
(C) profit of Rs 500 (D) loss of Rs 400

. Which is the right form of integer “2°C below 0°C’?

(A) 2 (B) -2 (C) -3
. Write with appropriate sign: 15°C below 0°C temperature
(A) -15 (B) 15 (C) 5
.-1_____ 0
(A) > (B) < (C) =
=S -7
(A) = (B) < ©) >

________is the largest negative integer.
A) -1 (B) O (C) Can’t Say
___is the neither positive nor negative integer.

A) -1 B) O )1
10. _ _is the least positive integer.
A) 1 (B) O (C) Can’t Say
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